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relation symbols

WORKSHEET#3

9 { Comparing humbers using

1

Encircle the correct answer from the box.

1)

371

2)

78

3)

66

4)

49

5)

97

6)

77

33

greater than

less than

less than

less than

greater than

less than

less than

46

27

of

72

98

06

17

30

99

96

67

92

08

32
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8)

6%

9)

08

10)

37

11)

45

12)

006

13)

34

14)

17

15)

29

greater than

less than

less than

greater than

equal to

greater than

equal to

less than

o1

069

31

70

066

77

36

27

79

34

74

34

17

99

23

70
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ANSWERS

“Please log in to www.letsshareknowledge.com for more worksheets"
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